## **Garland Independent School**

## **GISD Sourcing Bid Tab**

Bid#:	31448	Title:10-16 Dry & Staple

0	EDOUE	-
Quote# Vendor / Supplier	EPCNT	Discount
458538 *ADVANCE SALES & MARKETING	Yes	N/A
459641 ADVANTAGE WAYPOINT LLC	Yes, as	0.00%
459586 APANI SOUTHWEST INC	Yes	No
459608 ASIAN FOOD SOLUTIONS	ves	Minimum
459653 ASPIRE BEVERAGE COMPANY LLC	Yes	0
459646 BARE FOODS CO DBA BARE SNACKS	ves	0
459547 BASIC AMERICAN INC DBA BASIC	K-12	10.000 lb.
458599 BRAUN BEEF CO INC	Yes but	N/A
459616 BUSH BROTHERS & COMPANY	Yes	0
459601 C H GUENTHER & SON INC DBA	Yes	2%10 Net
459613 CAL-TEX CITRUS JUICE LLP DBA	Yes	0
459640 CHEFS CORNER FOODS	N/A	N/A
458574 CONAGRA FOODS INCORPORATED	No	N/A
459647 CUSTOM CULINARY INCORPORATED	No	N/A
459649 ES FOODS	Yes	0
459584 GLOBAL FOODS INCORPORATED	Yes	Between
458530 GOOD SOURCE SOLUTIONS DBA	yes as	n/a
459580 *HANKS BROKERAGE	NO	0
459611 INDIAN HARVEST SPECIALTIFOODS INC	Yes	0
459651 KENS FOODS INC	No	N/A
458528 MAGIC SEASONING BLENDS LLC	Yes	MINIMUM
458517 MCLANE EXPRESS INCORPORATED	Yes	12%
458577 NATIONAL FOOD GROUP INC	Yes	NA
459597 NESTLE WATERS NORTH AMERICA	ves	0
459582 PRECISION FOODS INC (KENT	YES	Not
458539 ROBBINS SALES COMPANY, INC.	YES	NO
459615 SUNNY DELIGHT BEVERAGES CO	Yes	0
459614 SUPER BAKERY INC	Yes	0
459546 SYSCO USA I INCORPORATED DBA	Entities	10%
459621 THE MASTERS DISTRIBUTION SYSTEMS		10
459612 TREE TOP	Yes	0
459578 TRUE BREW ENTERPRISES LLC	Yes	4 pallet
CHURCHFIELD TRADING COMPANY		
BYRNE BROTHERS FOODS, INC.	No	

1NL - Not low when unit price is calculated 3TQ - Taste Quality of product unacceptable 8PS - Failed to provide product sample 4NS - Not to Specifications 4MO - Minimum order quantities too restrictive WB - Vendor Withdrew Bid

## \*Confidential

		Award			Corindential			Extended
Line #	Item Description	(Y/N)	Reason	иом	Supplier	Qtv	Price	Price
LIIIC#	APPLES PIE-SLICED, HEAVY	(1 / N)	Reason	OOW	Supplier	Qty	FIICE	FIICE
1	PACKED 6/#10 CANS	Υ		cs	ROBBINS SALES COMPANY, INC.	800	22.4	\$17,920.00
				cs	BYRNE BROTHERS FOODS, INC.	800	24.98	\$19,984.00
				cs	BRAUN BEEF CO INC	800	27.5	\$22,000.00
				cs	INCORPORATED DBA THE CD HARTNETT COMPANY	800	39.77	\$31,816.00
				cs	CHURCHFIELD TRADING CO.	800	43.76	\$35,008.00
2	APPLE SAUCE, CHUNKY, FANCY, LOW SUGAR OR UNSWEETENED, 6/#10 CANS	N	1NL	cs	TREE TOP	1500	17.6	\$26,400.00
		Υ		cs	ROBBINS SALES COMPANY, INC.	1500	18.24	\$27,360.00
				cs	BYRNE BROTHERS FOODS, INC.	1500	19.98	\$29,970.00
				cs	*HANKS BROKERAGE	1500		
				cs	CHURCHFIELD TRADING CO. *ALT	1500		
				cs	BRAUN BEEF CO INC	1500	22.773	\$34,159.50
				cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT COMPANY	1500	35.39	\$53,085.00
				cs	CHURCHFIELD TRADING CO.	1500	41.95	\$62,925.00
3	BARBECUE SAUCE, HICKORY SMOKED, LOW SODIUM, 4/1 GAL, CATTLEMAN'S OR EQUAL	Y		cs	BYRNE BROTHERS FOODS, INC.	1500	18.98	\$28,470.00
				cs	BRAUN BEEF CO INC	200	21.56	\$4,312.00
				cs	KENS FOODS INC	200	28.88	\$5,776.00

		Award						Extended
Line #	Item Description BEANS, BLACK, DRY, GRADE A,	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
4	SANTIAGO OR EQUAL	Υ		CS	BYRNE BROTHERS FOODS, INC. BASIC AMERICAN INC DBA BASIC	1000	19.68	\$19,680.00
				cs	AMERICAN FOODS	1000	25.65	\$25,650.00
5	BEANS, REFRIED, DEHYDRATED, SMOOTH OR WHOLE BEAN STYLE, CORN OIL, NO ANIMAL FAT, POLY BAGS, SANTIAGO OR EQUAL		No Award	cs	BASIC AMERICAN INC DBA BASIC AMERICAN FOODS	1000	23.3	\$23,300.00
6	BEANS, REFRIED, DEHYDRATED, SMOOTH OR WHOLE BEAN STYLE, LOW SODIUM, CORN OIL, NO ANIMAL FAT, POLY BAGS, SANTIAGO OR EQUAL	Y		CS	BASIC AMERICAN INC DBA BASIC AMERICAN FOODS	1000	16.75	\$16,750.00
7	BEANS, BAKED, VEGETARIAN, IN MEATLESS TOMATO SAUCE MILDLY SEASONED, BUSH'S LOW SODIUM PREFERRED, GRADE A, 6/#10 CANS	Υ		CS	ROBBINS SALES COMPANY, INC.	1000	18.4	\$18,400.00
				cs	BYRNE BROTHERS FOODS, INC.	1000	18.98	\$18,980.00
				cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT COMPANY	1000	19.93	\$19,930.00
				cs	BRAUN BEEF CO INC	1000	20.7	\$20,700.00
				cs	CHURCHFIELD TRADING CO.	1000	22.3	\$22,300.00
				cs	BUSH BROTHERS & COMPANY	1000	28.8	\$28,800.00
8	BLACK OLIVES, WHOLE PITTED 6/#10 CANS	Υ		cs	BYRNE BROTHERS FOODS, INC.	50	34.98	\$1,749.00
9	BREAKFAST BREAKS, TRIX, REDUCED SUGAR, 51% WHOLE GRAIN	N	1NL	cs	*ADVANCE SALES & MARKETING INCORPORATED	1000		
		Υ		cs	ES FOODS	1000	43.2	\$43,200.00
10	BROWNIE, INDIVIDUALLY PACKAGED, 51% WHOLE GRAIN	'	No Award	cs	BYRNE BROTHERS FOODS, INC.	1000	23.5	\$23,500.00
				cs	NATIONAL FOOD GROUP INC	1000	36	\$36,000.00
	CANNED JUICE SPARKLING, APPLE JUICE OR SIMILIAR FLAVOR, 100% JUICE, 24/12 OZ							
11	CAN	N	3TQ	CS	SYSCO USA I INCORPORATED DBA	4000	8.866	\$35,464.00
		N	3TQ	CS	SYSCO NORTH TEXAS THE MASTERS DISTRIBUTION	4000	8.98	\$35,920.00
		N	3TQ	CS	SYSTEMS	4000	9.18	\$36,720.00
		Υ		cs	ADVANTAGE WAYPOINT LLC	4000	10.57	\$42,280.00
				cs	INCORPORATED DBA THE CD HARTNETT COMPANY	4000	11.47	\$45,880.00
12	CANNED JUICE SPARKLING, FRUIT PUNCH OR SIMILIAR FLAVOR, 100% JUICE, 24/12 OZ CAN	N	зто	cs	THE MASTERS DISTRIBUTION SYSTEMS	8000	9.18	\$73,440.00
		Υ		cs	ADVANTAGE WAYPOINT LLC	8000	10.57	\$84,560.00
				cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT COMPANY	8000	11.47	\$91,760.00

		Award						Extended
Line #	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				cs	BRAUN BEEF CO INC	8000	11.78	\$94,240.00
				cs	SYSCO USA I INCORPORATED DBA SYSCO NORTH TEXAS	8000	11.87	\$94,960.00
	CANNED JUICE SPARKLING,			- 00	STOCK NORTH TEXAS	0000	11.07	ψ34,300.00
13	GRAPE OR BERRY FLAVOR, 100% JUICE, 24/12 OZ CAN	N	3TQ	cs	BRAUN BEEF CO INC	3000	9.48	\$28,440.00
13	100% JUICE, 24/12 OZ CAN	IN	31Q	CS	BRAUN BEEF CO INC	3000	9.40	\$20,440.00
		Υ		cs	ADVANTAGE WAYPOINT LLC	3000	10.57	\$31,710.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			
				CS	HARTNETT COMPANY	3000	11.47	\$34,410.00
	CANNED JUICE SPARKLING, KIWI/STRAWBERRY OR SIMILIAR							
	FLAVOR, 100% JUICE, 24/12 OZ				THE MASTERS DISTRIBUTION			
14	CAN	N	3TQ	CS	SYSTEMS	8000	9.76	\$78,080.00
		Υ		cs	ADVANTAGE WAYPOINT LLC	8000	10.57	\$84,560.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			
				cs	HARTNETT COMPANY	8000	11.47	\$91,760.00
				cs	BRAUN BEEF CO INC	8000	11.787	\$94,296.00
				cs	SYSCO USA I INCORPORATED DBA SYSCO NORTH TEXAS	8000	11.87	\$94,960.00
								, , , , , , , , , , , , , , , , , , , ,
	CANNED JUICE SPARKLING, ORANGE OR SIMILIAR FLAVOR,				THE MASTERS DISTRIBUTION			
15	100% JUICE, 24/12 OZ CAN	N	зто	cs	SYSTEMS	3500	9.76	\$34,160.00
		Υ		cs	ADVANTAGE WAYPOINT LLC	3500	10.57	\$36,995.00
					MCLANE EXPRESS			
				cs	INCORPORATED DBA THE CD HARTNETT COMPANY	3500	11.47	\$40,145.00
				-00	DRAIN PEET OF INC	0500	44 707	<b>*</b> 44.054.50
				CS	BRAUN BEEF CO INC SYSCO USA I INCORPORATED DBA	3500	11.787	\$41,254.50
				cs	SYSCO NORTH TEXAS	3500	11.87	\$41,545.00
	CANNED JUICE SPARKLING, LEMON OR CITRUS FLAVOR.		No		MCLANE EXPRESS INCORPORATED DBA THE CD			
16	100% JUICE, 24/12 OZ CAN		Award	cs	HARTNETT COMPANY	5000	11.47	\$57,350.00
	CANNED JUICE SPARKLING, CHERRY, POMGRANATE OR							
	SIMILIAR FLAVOR, 100% JUICE,							
17	24/12 OZ CAN	Υ		CS	ADVANTAGE WAYPOINT LLC MCLANE EXPRESS	1000	10.57	\$10,570.00
					INCORPORATED DBA THE CD			
				CS	HARTNETT COMPANY	1000	11.47	\$11,470.00
	CANNED COFFEE BEVERAGES,							
18	NO MORE THAN 10 CAL/20 OZ	N	8PS	CS	BYRNE BROTHERS FOODS, INC.	1000	27	\$27,000.00
	CEASAR DRESSING, P.C., MAXIMUM 8 GR FAT PER							
19	TABLESPOON	Υ		cs	KENS FOODS INC	50	13.35	\$667.50
				cs	BYRNE BROTHERS FOODS, INC.	50	29.23	\$1,461.50
			No					. ,
20	CEASAR DRESSING CEREAL, SWEETENED,		Award	CS	NB			
	MARSHMALLOW FLAVOR, BOWL							
24	PACK, 96/CS, LOW SUGAR	V		ce	RPAIN REFE COINC	1000	16 FF	\$16 EE0 00
21	PREFERRED	Υ		CS	BRAUN BEEF CO INC MCLANE EXPRESS	1000	16.55	\$16,550.00
					INCORPORATED DBA THE CD	4000	47.00	<b>647 000 0</b> 5
				CS	HARTNETT COMPANY	1000	17.03	\$17,030.00
				cs	BYRNE BROTHERS FOODS, INC.	1000	24.85	\$24,850.00

		Award						Extended
Line #	Item Description	(Y/N)	Reason	иом	Supplier	Qty	Price	Price
	CEREAL, SWEETENED,	(1,11)			Соррио	4-7		
	CHOCOLATE COCOA FLAVOR,							
	BOWL PACK, 96/CS,LOW SUGAR							
22	PREFERRED	Υ		CS	BRAUN BEEF CO INC	1000	16.55	\$16,550.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			
				cs	HARTNETT COMPANY	1000	17.03	\$17,030.00
					THE THE TENED TO T	1000	17100	<b>\$11,000.00</b>
	CEREAL, SWEETENED, FROSTED							
	FLAKES, BOWL PACK, 96/CS,							
23	LOW SUGAR PREFERRED	Υ		cs	BRAUN BEEF CO INC	1000	16.55	\$16,550.00
					MCLANE EXPRESS			
				cs	INCORPORATED DBA THE CD HARTNETT COMPANY	1000	16.81	\$16,810.00
				- 00	SYSCO USA I INCORPORATED DBA	1000	10.01	ψ10,010.00
				cs	SYSCO NORTH TEXAS	1000	16.82	\$16,820.00
	CEREAL, SWEETENED, FRUIT							
	FLAVOR, BOWL PACK, 96/CS,							
24	LOW SUGAR PREFERRED	Υ		CS	BRAUN BEEF CO INC	1000	16.55	\$16,550.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			
				cs	HARTNETT COMPANY	1000	16.81	\$16,810.00
								ų rojo roto
	CEREAL, SWEETENED, HONEY							
25	AND NUT FLAVOR, BOWL PACK, 96/CS, LOW SUGAR PREFERRED	Υ		cs	BRAUN BEEF CO INC	1000	16.55	\$16,550.00
25	90/C3, LOW SUGAR PREFERRED	Y		CS	MCLANE EXPRESS	1000	10.55	\$10,550.00
					INCORPORATED DBA THE CD			
				cs	HARTNETT COMPANY	1000	17.03	\$17,030.00
	CEREAL, SWEETENED, HONEY							
26	GRAHAM FLAVOR, BOWL PACK,	γ		cs	BRAUN BEEF CO INC	1000	16.55	\$46 EE0 00
20	96/CS, LOW SUGAR PREFERRED	Υ		CS	MCLANE EXPRESS	1000	10.55	\$16,550.00
					INCORPORATED DBA THE CD			
				cs	HARTNETT COMPANY	1000	17.03	\$17,030.00
	CINNAMON RICE CHEX OR							
	SIMILIAR, BOWL PACK, 96/CS,							
27	LOW SUGAR PREFERRED	Υ		CS	BRAUN BEEF CO INC	1000	16.55	\$16,550.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			
				cs	HARTNETT COMPANY	1000	17.03	\$17,030.00
	CHEESE PARMESAN GRATED 5							, ,
28	LB	Υ		cs	BYRNE BROTHERS FOODS, INC.	1000	79.98	\$79,980.00
				-	CHURCHELL D'EL PRINC CO	4000	05.75	<b>COE 750 00</b>
	COFFEE DECAFFEINATED, REG.			CS	CHURCHFIELD TRADING CO.	1000	85.75	\$85,750.00
	GRIND 8/3 OZ VACUUM CANS							
29	PER CASE	Υ		cs	BYRNE BROTHERS FOODS, INC.	25	74	\$1,850.00
	COFFEE REG. GRIND 8/3 OZ OR							
	8/39 0Z VACUUM CANS PER							
30	CASE	Υ		CS	BYRNE BROTHERS FOODS, INC.	100	66	\$6,600.00
	COPNEDEAD MIX 6/5# NO							
31	CORNBREAD MIX, 6/5#, NO TRANS FAT, 51% WHOLE GRAIN	N	4NS	cs	BYRNE BROTHERS FOODS, INC.	200	25	\$5,000.00
<del></del>	The state of the s		7.13		C H GUENTHER & SON INC DBA			70,000
		Υ		CS	PIONEER FLOUR MILLS	200	27.25	\$5,450.00
					THE MASTERS DISTRIBUTION			
				CS	SYSTEMS	200	27.41	\$5,482.00
	CORNBREAD AND WHEAT							
	CORNBREAD AND WHEAT BREAD BLEND, 51% WHOLE							
	GRAIN, NO TRANS FAT, HOT							
32	WATER PREPARED	N	4NS	cs	BYRNE BROTHERS FOODS, INC.	1000	20.54	\$20,540.00
	•	•		•	•		•	

		Aurani'						Evterada d
Line #	Item Description	Award (Y / N)	Reason	иом	Supplier	Qty	Price	Extended Price
	Boodiption	(,,,,,,		33.11	MCLANE EXPRESS	۳٠,	50	
					INCORPORATED DBA THE CD			
		N	4NS	CS	HARTNETT COMPANY	1000	36.69	\$36,690.00
		Υ		cs	PRECISION FOODS INC (KENT PRECISION FOODS GROUP)	1000	64.11	\$64,110.00
	CRACKERS, ANIMAL, 51%			CO	FRECISION FOODS GROUP)	1000	04.11	\$04,110.00
	WHOLE GRAIN ASSORTED							
33	SHAPES, 1 OZ PKG	Υ		cs	BRAUN BEEF CO INC	250	10.66	\$2,665.00
						050	45.50	40.005.00
				CS	BYRNE BROTHERS FOODS, INC. THE MASTERS DISTRIBUTION	250	15.58	\$3,895.00
				cs	SYSTEMS	250	21.63	\$5,407.50
					SYSCO USA I INCORPORATED DBA			<b>4</b> 0,101100
				CS	SYSCO NORTH TEXAS	250	21.85	\$5,462.50
				-00		050	05.5	#0.07F.00
				cs	GLOBAL FOODS INCORPORATED MCLANE EXPRESS	250	25.5	\$6,375.00
					INCORPORATED DBA THE CD			
				cs	HARTNETT COMPANY	250	26.49	\$6,622.50
					*ADVANCE SALES & MARKETING	e=-		
	CDACKEDS OOLDESOLL 540'			CS	INCORPORATED	250		
	CRACKERS, GOLDFISH, 51% WHOLE GRAIN, ASSORTED							
34	SHAPES, 1 OZ PKG	N	4NS	cs	BYRNE BROTHERS FOODS, INC.	200	47	\$9,400.00
	,							, , , , , , ,
		Υ		cs	BRAUN BEEF CO INC	200	48.3	\$9,660.00
	CRACKERS, CINNAMON						]	
35	GRAHAM, 51% WHOLE GRAIN, SINGLE WRAP, 1 OZ	N	1NL	cs	BYRNE BROTHERS FOODS, INC.	200	15.98	\$3,196.00
33	ONGLE WICH, 102	IN	TINE	- 00	*ADVANCE SALES & MARKETING	200	13.30	ψυ, 130.00
		N	1NL	cs	INCORPORATED	200		
					THE MASTERS DISTRIBUTION			
		Υ		CS	SYSTEMS	200	17.04	\$3,408.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			
				cs	HARTNETT COMPANY	200	26.49	\$5,298.00
					SYSCO USA I INCORPORATED DBA			
				CS	SYSCO NORTH TEXAS	200	26.56	\$5,312.00
	CRACKERS, CHOCOLATE							
36	GRAHAM, 51% WHOLE GRAIN, SINGLE WRAP, 1 OZ	Υ		cs	BRAUN BEEF CO INC	200	10.66	\$2,132.00
- 50				30	THE MASTERS DISTRIBUTION		.0.00	ψ <u>z</u> , 102100
				cs	SYSTEMS	200	26.39	\$5,278.00
					MCLANE EXPRESS			
				cs	INCORPORATED DBA THE CD HARTNETT COMPANY	200	26.49	\$5 200 00
			1	U3	*ADVANCE SALES & MARKETING	200	20.49	\$5,298.00
				cs	INCORPORATED	200		
				CS	BYRNE BROTHERS FOODS, INC.	200	34.85	\$6,970.00
	CRACKERS, STRAWBERRY							
	WAFFLE GRAHAM, 51% WHOLE				*ADVANCE SALES & MARKETING			
37	GRAIN, SINGLE WRAP, 1 OZ	Υ		cs	INCORPORATED	200		
					THE MASTERS DISTRIBUTION	_		
				CS	SYSTEMS	200	37.98	\$7,596.00
				cs	BYRNE BROTHERS FOODS, INC.	200	43.15	\$8,630.00
				- 55	MCLANE EXPRESS	200	-0.10	<b>\$0,000.00</b>
	CRACKERS, SALTINE, 51%				INCORPORATED DBA THE CD			
38	WHOLE GRAIN, 4 PACK, 280/CS	Υ		cs	HARTNETT COMPANY	1200	11.05	\$13,260.00
				CC	DRAIN PEEE CO INC	1200	14.03	£17.046.00
			1	cs	BRAUN BEEF CO INC	1200	14.93	\$17,916.00
				cs	BYRNE BROTHERS FOODS, INC.	1200	15.78	\$18,936.00
					THE MASTERS DISTRIBUTION			
				CS	SYSTEMS	1200	22.15	\$26,580.00

		Aanal	1					- Freton dod
Line #	Item Description CRANBERRY SAUCE, JELLIED,	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
39	6/#10 CANS	Υ		CN	BYRNE BROTHERS FOODS, INC.	900	39.9	\$35,910.00
					MCLANE EXPRESS			
				CN	INCORPORATED DBA THE CD HARTNETT COMPANY	900	43.27	\$38,943.00
	CRANBERRIES, DRIED,			OIL	HARTIETT GOMI ART	300	40.21	ψου,σ-το.σσ
	INDIVIDUAL PACKAGES, 2.5 OZ,							
	SWEETENED, FAT FREE, NO ARTIFICIAL FLAVORS OR							
40	PRESERVATIVES	Υ		EA	BYRNE BROTHERS FOODS, INC.	500	41.48	\$20,740.00
					MCLANE EXPRESS			
				EA	INCORPORATED DBA THE CD HARTNETT COMPANY	500	56.23	\$28,115.00
	CROUTONS SEASONED 51%							4==,::::::
	WHOLE GRAIN, LARGE CUT, 10# CONTAINER BURRY #94430 OR		No					
41	EQUAL	N	Award	cs	BYRNE BROTHERS FOODS, INC.	100	17.89	\$1,789.00
	FLOUR ENRICHED, ALL							, ,
42	PURPOSE 25# BAG	Υ		BAG	BYRNE BROTHERS FOODS, INC.	400	6.98	\$2,792.00
43	FLOUR , WHOLE WHEAT	Υ		BAG	BYRNE BROTHERS FOODS, INC.	800	14.98	\$11,984.00
44	FOOD COLORING GREEN QT PK	Υ		EA	BYRNE BROTHERS FOODS, INC.	75	7.88	\$591.00
				EA	ADVANTAGE WAYPOINT LLC	75	53.52	\$4,014.00
45	FOOD COLORING, RED	Υ		PT	BYRNE BROTHERS FOODS, INC.	100	8.88	\$888.00
				РТ	ADVANTAGE WAYPOINT LLC	100	52.06	\$5,206.00
	FRUIT COCKTAIL, FANCY, LIGHT							
46	SYRUP, 6/#10 CANS	Υ		CS	ROBBINS SALES COMPANY, INC.	3000	28.44	\$85,320.00
				cs	BYRNE BROTHERS FOODS, INC.	3000	28.98	\$86,940.00
				cs	BRAUN BEEF CO INC	3000	31.38	\$94,140.00
				cs	*HANKS BROKERAGE	3000		
				cs	CHURCHFIELD TRADING CO.	3000	33.42	\$100,260.00
				- 03	SYSCO USA I INCORPORATED DBA	3000	33.42	\$100,200.00
				cs	SYSCO NORTH TEXAS	3000	34.77	\$104,310.00
	FRUIT COCKTAIL, FANCY, LIGHT SYRUP, INDIVIDUALLY							
	PACKAGED, SHELF STABLE, 4		No					
47	OZ.	N	Award	cs	BYRNE BROTHERS FOODS, INC.	500	16.78	\$8,390.00
		NI NI	No	cs	SYSCO USA I INCORPORATED DBA SYSCO NORTH TEXAS	500	17.76	\$8,880.00
-	FRUIT PIECES, DRIED,	N	Award	- 55	O TOO NORTH TEXAS	300	17.70	ψυ,υσυ.υυ
	INDIVIDUALLY PACKAGED, 1/2							
48	CUP EQUIVALENT, SHELF STABLE	N	1NL	cs	BARE FOODS CO DBA BARE SNACKS	500	23.04	\$11,520.00
			TIAL		GOOD SOURCE SOLUTIONS DBA			
		Υ		cs	TOOLS FOR SCHOOLS	500	48.25	\$24,125.00
				cs	BYRNE BROTHERS FOODS, INC.	500	49.82	\$24,910.00
49	GARLIC, MINCED	N	1NL	cs	ADVANTAGE WAYPOINT LLC	100	54.9	\$5,490.00
		Υ		cs	BYRNE BROTHERS FOODS, INC.	100	68.88	\$6,888.00
50	GELATIN, CHERRY, 12/24 OZ. JELLO-O OR EQUAL	Υ		cs	BYRNE BROTHERS FOODS, INC.	300	21.38	\$6,414.00
					MCLANE EXPRESS			
				cs	INCORPORATED DBA THE CD HARTNETT COMPANY	300	22.03	\$6,609.00
				cs	BRAUN BEEF CO INC	300	23.4	\$7,020.00
		<u> </u>		US	DIVADIA DEFE CO IMC	300	23.4	φ1,020.00

Line #	Itom Description	Award (Y / N)	Reason	иом	Cumplior	04.	Price	Extended
Line #	Item Description GELATIN, LIME, 12/24 OZ. JELLO-		Reason	UOM	Supplier	Qty	Price	Price
51	O OR EQUAL	Υ		CS	BYRNE BROTHERS FOODS, INC.	400	21.38	\$8,552.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			
				cs	HARTNETT COMPANY	400	22.03	\$8,812.00
				cs	BRAUN BEEF CO INC	400	23.4	\$9,360.00
50	GELATIN, ORANGE, 12/24 OZ. JELLO-O OR EQUAL			cs	DVDNE DDOTHEDO FOODO INO	000	04.00	00.444.00
52	JELLO-O OR EQUAL	У		CS	BYRNE BROTHERS FOODS, INC. MCLANE EXPRESS	300	21.38	\$6,414.00
					INCORPORATED DBA THE CD			
				cs	HARTNETT COMPANY	300	22.03	\$6,609.00
				cs	BRAUN BEEF CO INC	300	23.4	\$7,020.00
	GRANOLA BULK, GLUTEN FREE				MCLANE EXPRESS INCORPORATED DBA THE CD			
53	OR NO WHEAT INGREDIENTS	N	3TQ	cs	HARTNETT COMPANY	500	25.95	\$12,975.00
		N	3TQ	cs	BYRNE BROTHERS FOODS, INC.	500	25.98	\$12,990.00
		N	3TQ	cs	BRAUN BEEF CO INC	500	26.25	\$13,125.00
					THE MASTERS DISTRIBUTION			
		Υ		CS	SYSTEMS	500	30.13	\$15,065.00
				cs	NATIONAL FOOD GROUP INC	500	33	\$16,500.00
	GRANOLA, INDIVIDUALLY							
	PACKAGED, 51% WHOLE GRAIN,							
54	LOW FAT, GLUTEN FREE OR NO WHEAT INGREDIENTS	Υ		EA	ES FOODS	1000	33	\$33,000.00
				EA	NATIONAL FOOD GROUP INC	1000	33.65	\$33,650.00
				EA	SYSTEMS	1000	33.81	\$33,810.00
				EA	BYRNE BROTHERS FOODS, INC.	1000	36.88	\$36,880.00
					MCLANE EXPRESS	1000	00.00	<b>400,000.00</b>
				EA	INCORPORATED DBA THE CD HARTNETT COMPANY	1000	36.95	\$36,950.00
					INACTION AND	1000	30.33	ψου,σου.σο
				EA	BRAUN BEEF CO INC *ADVANCE SALES & MARKETING	1000	37.8	\$37,800.00
				EA	INCORPORATED	1000		
	GRAPE JELLY P.C. 1.5 OZ,				MCLANE EXPRESS INCORPORATED DBA THE CD			
55	SHELF STABLE	Υ		cs	HARTNETT COMPANY	2500	8.11	\$20,275.00
				cs	BYRNE BROTHERS FOODS, INC.	2500	9.68	\$24,200.00
	GRAVY MIX, COUNTRY STYLE,			- 03	DITAL BROTTLERS FOODS, INC.	2300	3.00	φ <b>∠</b> 4,∠00.00
EG	LOW FAT, 6/24 OZ. NO TRANS		No	CC	C H GUENTHER & SON INC DBA	4000	40	£49,000,00
56	FAT	N	Award	cs	PIONEER FLOUR MILLS	4000	12	\$48,000.00
		N		cs	BYRNE BROTHERS FOODS, INC.	4000	13.71	\$54,840.00
		N		cs	INCORPORATED	4000	21.07	\$84,280.00
		N		cs	*ADVANCE SALES & MARKETING INCORPORATED	4000		
		IN			PRECISION FOODS INC (KENT			
		N		CS	PRECISION FOODS GROUP)	4000	31.51	\$126,040.00
	GRAVY MIX, COUNTRY STYLE,							
57	LOW FAT, LOW SODIUM, 6/24 OZ, NO TRANS FAT	Υ		cs	C H GUENTHER & SON INC DBA PIONEER FLOUR MILLS	4000	13.2	\$52,800.00
JI	NO TRANSFAT			- 03	I ONI LIN I LOUN WILL S	-1000	13.2	ψ <b>52</b> ,000.00
				cs	BYRNE BROTHERS FOODS, INC. PRECISION FOODS INC (KENT	4000	20.28	\$81,120.00
				cs	PRECISION FOODS INC (KENT	4000	30.98	\$123,920.00
	•	•	•	•	•	•	•	•

		Award						Extended
Line #	Item Description		Reason	UOM	Supplier	Qty	Price	Price
58	GREEN CHILIES, DIČED, 12/27 OZ.	Υ		cs	BYRNE BROTHERS FOODS, INC.	100	44	\$4,400.00
				cs	CONAGRA FOODS INCORPORATED	100	53.6	\$5,360.00
50	HASH BROWN POTATOES, DEHYDRATED, SHREDDED, VIT C ENRICHED, PACKED IN PURE-	v				100		
59	PAC CONTAINERS	Υ		CS	ADVANTAGE WAYPOINT LLC MCLANE EXPRESS	100	28.25	\$2,825.00
				cs	INCORPORATED DBA THE CD HARTNETT COMPANY BASIC AMERICAN INC DBA BASIC	100	32.05	\$3,205.00
				cs	AMERICAN FOODS	100	32.46	\$3,246.00
				cs	BYRNE BROTHERS FOODS, INC.	100	37.5	\$3,750.00
60	HERB & SPICE DRESSING MIX, 18/1gl PKS, LOW SODIUM AND LO-CAL PREFERRED	N	No Award	cs	SYSCO USA I INCORPORATED DBA SYSCO NORTH TEXAS	50	10.22	\$511.00
		N		cs	PRECISION FOODS INC (KENT PRECISION FOODS GROUP)	50	29.41	\$1,470.50
		N		cs	BYRNE BROTHERS FOODS, INC.	50	47.5	\$2,375.00
61	HERB & SPICE DRESSING, LOW SODIUM 18/1 GL.PKS HONEY, PACKED 4/1 GAL OR 8	Υ			PRECISION FOODS INC (KENT PRECISION FOODS GROUP)	50	19.8	\$990.00
62	1/2 GAL	Υ		cs	BYRNE BROTHERS FOODS, INC.	300	195.8	\$58,740.00
63	HONEY MUSTARD DRESSING, 12 GRAM PC, FLAVOR FRESH OR SIMILAR	Υ		cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT COMPANY	50	12.75	\$637.50
64	HONEY MUSTARD, pc 1.5 OZ	Υ		cs	BYRNE BROTHERS FOODS, INC.	100	19.65	\$1,965.00
65	ITALIAN DRESSING, LIGHT, P.C. 1.5 OZ.	N	1NL	cs	KENS FOODS INC	200	8.54	\$1,708.00
		N N	1NL	cs	SYSCO USA I INCORPORATED DBA SYSCO NORTH TEXAS	200	10.49	\$2,098.00
		N	1NL	cs	BYRNE BROTHERS FOODS, INC.	200	14.25	\$2,850.00
		Υ		cs	ADVANTAGE WAYPOINT LLC	200	21.34	\$4,268.00
66	ITALIAN DRESSING, LIGHT, P.C. 12 GRAM	Υ		cs	BYRNE BROTHERS FOODS, INC.	200	9.6	\$1,920.00
67	ITALIAN DRESSING, P.C. 1.5 OZ.	Υ		cs	KENS FOODS INC	100	9.54	\$954.00
				cs	BYRNE BROTHERS FOODS, INC.	100	22.55	\$2,255.00
68	ITALIAN SEASONING, 4/5#	N	No Award	cs	ADVANTAGE WAYPOINT LLC	50	36.74	\$1,837.00
		N		cs	BYRNE BROTHERS FOODS, INC.	50	78.88	\$3,944.00
69	ITALIAN SEASONING, LOW SODIUM 4/5#	Υ		cs	ADVANTAGE WAYPOINT LLC	50	36.74	\$1,837.00
35				cs	BYRNE BROTHERS FOODS, INC.	50	78.88	\$3,944.00
	JALAPENO PEPPERS, NACHO SLICED, LOW SODIUM, 6/#10 CAN, DOMESTIC PACKED ONLY				STATE STOTIETO 1 0000, 1140.	- 50	70.00	ψο,σττ.υυ
70	IN WATER OR NATURAL JUICE	N	4NS	CS	BYRNE BROTHERS FOODS, INC.	600	18.98	\$11,388.00
		Υ		CN	BRAUN BEEF CO INC	600	20.45	\$12,270.00
	LEMON JUICE, CONCENTRATE	N		CN	CONAGRA FOODS INCORPORATED	600	43.11	\$25,866.00
71	12/46 OZ	Υ		cs	BYRNE BROTHERS FOODS, INC.	100	32.35	\$3,235.00
72	OR EQUAL	Υ		cs	BYRNE BROTHERS FOODS, INC.	100	61.25	\$6,125.00
73	LIME JUICE, CONCENTRATE 12/46 OZ	Υ		cs	BYRNE BROTHERS FOODS, INC.	75	29.4	\$2,205.00

		Award						Extended
Line #	Item Description MANDARIN ORANGES, WHOLE	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
	SEGMENTS, 6/#10 CANS,							
	PACKED IN 100% JUICE, WATER OR LIGHT SYRUP, DOLE OR							
74	EQUAL	Υ		cs	ROBBINS SALES COMPANY, INC.	5000	21.24	\$106,200.00
				cs	BYRNE BROTHERS FOODS, INC.	5000	21.98	\$109,900.00
				cs	CHURCHFIELD TRADING CO.	5000	22.89	\$114,450.00
				cs	GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS	5000	23.82	\$119,100.00
				cs				<b>V</b> 110,100.00
					*HANKS BROKERAGE	5000		
				CS	BRAUN BEEF CO INC	5000	24.46	\$122,300.00
				cs	CHURCHFIELD TRADING CO. *ALT SYSCO USA I INCORPORATED DBA	5000		
				cs	SYSCO NORTH TEXAS	5000	35.65	\$178,250.00
75	MARASCHINO CHERRIES HALVES, 6(1/2 GAL) PER CS	Υ		cs	BYRNE BROTHERS FOODS, INC.	600	48.25	\$28,950.00
76	MAYONNAISE LIGHT 4/1 GAL	Υ		cs	BYRNE BROTHERS FOODS, INC.	400	23.88	\$9,552.00
77	MUSTARD 4/1 GALLON	Υ		cs	BYRNE BROTHERS FOODS, INC.	150	13.64	\$2,046.00
78	MUSTARD, P.C., 4.5 GRAM, 500/CS	Υ		cs	BYRNE BROTHERS FOODS, INC.	1000	5.2	\$5,200.00
					MCLANE EXPRESS			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
				cs	INCORPORATED DBA THE CD HARTNETT COMPANY	1000	7.89	\$7,890.00
79	NON-DAIRY CREAMER, PC, N'JOY OR EQUAL	Υ		cs	BYRNE BROTHERS FOODS, INC.	75	16.25	\$1,218.75
	OATMEAL BARS, STRAWBERRY,							
	SOFT, 51% WHOLE GRAIN,							
	INDIVIDUALLY PACKAGED, DARLINGTON APPLEWAYS OR				GOOD SOURCE SOLUTIONS DBA			
80	EQUAL	N	1NL	CS	TOOLS FOR SCHOOLS THE MASTERS DISTRIBUTION	1000	21.61	\$21,610.00
	PAN RELEASE. LIQUID	Υ		cs	SYSTEMS	1000	42.12	\$42,120.00
81	AEROSAL, HIGH YIELD, 6/14 OZ.	Υ		cs	ADVANTAGE WAYPOINT LLC	1400	12	\$16,800.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			
				cs	HARTNETT COMPANY *ADVANCE SALES & MARKETING	1400	15.43	\$21,602.00
				cs	INCORPORATED	1400		
				cs	BRAUN BEEF CO INC	1400	19.84	\$27,776.00
				cs	CONAGRA FOODS INCORPORATED	1400	20.69	\$28,966.00
				cs	BYRNE BROTHERS FOODS, INC.	1400	22.48	\$31,472.00
82	PANCAKE MIX, 6/5#, KRUSTEAZ or EQUAL	Υ		cs	BYRNE BROTHERS FOODS, INC.	500	18.1	\$9,050.00
	PASTA, BOW-TIE, 51% WHOLE				ŕ			
83	GRAIN, BARILLA OR EQUAL	Υ		CS	ADVANTAGE WAYPOINT LLC	300	15.5	\$4,650.00
				cs	BYRNE BROTHERS FOODS, INC.	300	22.4	\$6,720.00
	DASTA ECC NOODI E 540/			cs	CONAGRA FOODS INCORPORATED	300	26.4	\$7,920.00
	PASTA, EGG NOODLE, 51% WHOLE GRAIN, BARILLA OR		No					
84	EQUAL	N	Award	CS	CONAGRA FOODS INCORPORATED	750	13.27	\$9,952.50
		N		cs	BYRNE BROTHERS FOODS, INC.	750	15.45	\$11,587.50
		N		cs	ADVANTAGE WAYPOINT LLC	750	29.76	\$22,320.00

Internation	Line #	Many Decembration	Award	Danas	шом	Complian	Otre	Duine	Extended
BARILLA OR EQUAL	Line #	PASTA, PENNE, 1 1/2", 51%	(1 / N)	Reason	UCIVI	Supplier	Qty	Price	Price
PEACHES SLICED, LIGHT SYRUP,	85	1	Υ		cs	ADVANTAGE WAYPOINT LLC	1300	15.5	\$20,150.00
PEACHES SLICED, LIGHT SYRUP, WITO CANS, GRADE B					cs	BYRNE BROTHERS FOODS, INC.	1300	23.1	\$30,030.00
B8					cs	CONAGRA FOODS INCORPORATED	1300	23.4	\$30,420.00
CS BRAUN BEEF CO INC 3500 28.58 \$100,030.00  CS HANKS BROKERAGE 3500 29.6 \$103,600.00  CS CHURCHFIELD TRAINING CO. 3500 29.6 \$103,600.00  PEACHES, DICED, LIGHT SYRUP, INDIVIDUALLY PACKAGED, 1/2 CUP EQUIVALENT N NOW AWARD CS SYSCO USA I INCORPORATED DBA THE CD HARTHET COMPANY INC. 1000 17.17 \$17,170.00 17.17 \$17,17	86	1			cs	ROBBINS SALES COMPANY, INC.	3500	25.44	\$89,040.00
CS					cs	BYRNE BROTHERS FOODS, INC.	3500	26.98	\$94,430.00
CS   CHURCHFIELD TRADING CO.   3500   29.6   \$103,600.00					cs	BRAUN BEEF CO INC	3500	28.58	\$100,030.00
PEACHES, DICED, LIGHT SYRUP, INDIVIDUALLY PACKAGED, 1/2					cs	*HANKS BROKERAGE	3500		
PEACHES, DICED, LIGHT SYRUP, NO Award CS   SYSCO USA I INCORPORATED DBA SYSCO WORTH TEXAS   500   17.76   \$8,880.00					cs	CHURCHFIELD TRADING CO.	3500	29.6	\$103,600.00
INDIVIDUALLY PACKAGED, 1/2					cs	CHURCHFIELD TRADING CO. *ALT	3500		
PEARS, DICED, LIGHT SYRUP, 6/#10 CANS, BARTLETT, GRADE   Y	87	INDIVIDUALLY PACKAGED, 1/2	N	_	cs		500	17.76	\$8,880.00
6##10 CANS, BARTLETT, GRADE B CS ROBBINS SALES COMPANY, INC. 800 23.88 \$19,104.00  CS BYRNE BROTHERS FOODS, INC. 800 24.98 \$19,984.00  CS BRAUN BEEF CO INC 800 26.986 \$21,588.80  CS HANKS BROKERAGE 800  PEAS, BLACKEYE, 6#10 CANS, FRESH PACK WISNAPS, FANCY N 3TQ CS CHURCHFIELD TRADING CO. 1000 17.17 \$17,170.00  N 3TQ CS ROBBINS SALES COMPANY, INC. 1000 19.88 \$19,880.00  Y CS BUSH BROTHERS & COMPANY 1000 20 \$20,000.00  MCLANE EXPRESS INCORPORATED DBA THE CD CS HARTNETT COMPANY 1000 21.87 \$21,870.00  CS BYRNE BROTHERS FOODS, INC. 1000 22.78 \$22,780.00  BRAUN BEEF CO INC 1000 22.866 \$22,866.00  PICKLE RELISH, SWEET, PC, 9 CS BYRNE BROTHERS FOODS, INC. 1000 19.88 \$400.00  PICKLE RELISH, SWEET, PC, 9 CS BYRNE BROTHERS FOODS, INC. 50 8 \$400.00  PICKLES, DILL SLICED 4/1GL OR POUCH PAK, REDUCED SODIUM PREFERD Y CS BYRNE BROTHERS FOODS, INC. 1000 16.98 \$16,980.00  PINEAPPLE TIDBITS, 6/#10 CANS, NATURAL JUICE PACK, GRADE A Y CS CHURCHFIELD TRADING CO. 2500 25.27 \$63,175.00  CS CHURCHFIELD TRADING CO. 2500 25.27 \$63,175.00  CS CHURCHFIELD TRADING CO. 2500 25.27 \$63,175.00			N		cs	BYRNE BROTHERS FOODS, INC.	500	41.2	\$20,600.00
SECOND   S									
CS BRAUN BEEF CO INC 800 26.986 \$21,588.80  CS 'HANKS BROKERAGE 800  PEAS, BLACKEYE, 6/#10 CANS, FRESH PACK W/SNAPS, FANCY N 3TQ CS CHURCHFIELD TRADING CO. 1000 17.17 \$17,170.00  N 3TQ CS ROBBINS SALES COMPANY, INC. 1000 19.88 \$19,880.00  Y CS BUSH BROTHERS & COMPANY 1000 20 \$20,000.00  MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT COMPANY 1000 21.87 \$21,870.00  CS BYRNE BROTHERS FOODS, INC. 1000 22.78 \$22,780.00  CS BRAUN BEEF CO INC 1000 22.78 \$22,780.00  PICKLE RELISH, SWEET, PC, 9 N 8PS CS BYRNE BROTHERS FOODS, INC. 50 8 \$400.00  MGLANE EXPRESS INCORPORATED DBA THE CD HARTNETT COMPANY 50 8.15 \$407.50  PICKLES, DILL SLICED 4/1GL OR POUCH PAK, REDUCED SODIUM PREFERRED Y CS BYRNE BROTHERS FOODS, INC. 1000 16.98 \$16,980.00  PINEAPPLE TIDBITS, 6/#10 CANS, NATURAL JUICE PACK, GRADE A Y CS CHURCHFIELD TRADING CO. 2500 23.88 \$59,700.00  CS CHURCHFIELD TRADING CO. 2500 25.27 \$63,175.00  CS CHURCHFIELD TRADING CO. 2500 27.43 \$68,575.00	88	-	Υ		CS	ROBBINS SALES COMPANY, INC.	800	23.88	\$19,104.00
CS   HANKS BROKERAGE   800					cs	BYRNE BROTHERS FOODS, INC.	800	24.98	\$19,984.00
PEAS, BLACKEYE, 6/#10 CANS, FRESH PACK W/SNAPS, FANCY  N 3TQ CS CHURCHFIELD TRADING CO. 1000 17.17 \$17,170.00  N 3TQ CS ROBBINS SALES COMPANY, INC. 1000 19.88 \$19,880.00  Y CS BUSH BROTHERS & COMPANY 1000 20 \$20,000.00  MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT COMPANY 1000 21.87 \$21,870.00  CS BYRNE BROTHERS FOODS, INC. 1000 22.78 \$22,780.00  CS BRAUN BEEF CO INC 1000 22.866 \$22,866.00  PICKLE RELISH, SWEET, PC, 9 N 8PS CS BYRNE BROTHERS FOODS, INC. 50 8 \$400.00  PICKLES, DILL SLICED 4/1GL OR POUCH PAK, REDUCED SODIUM PREFERRED  PICKLES, DILL SLICED 4/1GL OR POUCH PAK, REDUCED SODIUM PREFERRED  PINEAPPLE TIDBITS, 6/#10 CANS, NATURAL JUICE PACK, GRADE A Y CS ROBBINS SALES COMPANY, INC. 2500 23.88 \$59,700.00  CS CHURCHFIELD TRADING CO. 2500 25.27 \$63,175.00  CS CHURCHFIELD TRADING CO. 2500 25.27 \$63,175.00					cs	BRAUN BEEF CO INC	800	26.986	\$21,588.80
### RESH PACK W/SNAPS, FANCY N 3TQ CS CHURCHFIELD TRADING CO. 1000 17.17 \$17,170.00    N 3TQ CS ROBBINS SALES COMPANY, INC. 1000 19.88 \$19,880.00   Y CS BUSH BROTHERS & COMPANY   1000 20 \$20,000.00		DEAC DI ACVEVE CIMAD CANC			cs	*HANKS BROKERAGE	800		
Y   CS   BUSH BROTHERS & COMPANY   1000   20   \$20,000.00	89	1	N	зто	cs	CHURCHFIELD TRADING CO.	1000	17.17	\$17,170.00
MCLANE EXPRESS   INCORPORATED DBA THE CD   1000   21.87   \$21,870.00			N	зто	cs	ROBBINS SALES COMPANY, INC.	1000	19.88	\$19,880.00
CS   INCORPORATED DBA THE CD   1000   21.87   \$21,870.00			Υ		cs		1000	20	\$20,000.00
CS BRAUN BEEF CO INC 1000 22.866 \$22,866.00    CS CHURCHFIELD TRADING CO. *ALT 1000					cs	INCORPORATED DBA THE CD	1000	21.87	\$21,870.00
CS   CHURCHFIELD TRADING CO. *ALT   1000					cs	BYRNE BROTHERS FOODS, INC.	1000	22.78	\$22,780.00
90 GR, 200/CS N 8PS CS BYRNE BROTHERS FOODS, INC. 50 8 \$400.00    MCLANE EXPRESS   INCORPORATED DBA THE CD   HARTNETT COMPANY   50 8.15 \$407.50					cs	BRAUN BEEF CO INC	1000	22.866	\$22,866.00
90 GR, 200/CS N 8PS CS BYRNE BROTHERS FOODS, INC. 50 8 \$400.00    MCLANE EXPRESS   INCORPORATED DBA THE CD   HARTNETT COMPANY   50 8.15 \$407.50					cs	CHURCHFIELD TRADING CO. *ALT	1000		
PICKLES, DILL SLICED 4/1GL OR POUCH PAK, REDUCED SODIUM PREFERRED  91 PINEAPPLE TIDBITS, 6/#10 CANS, NATURAL JUICE PACK, GRADE A  CS ROBBINS SALES COMPANY, INC. 2500 23.88 \$59,700.00  CS CHURCHFIELD TRADING CO. 2500 25.27 \$63,175.00  GOOD SOURCE SOLUTIONS DBA CS TOOLS FOR SCHOOLS  CS INCORPORATED DBA THE CD	90	1	N	8PS	cs		50	8	\$400.00
PICKLES, DILL SLICED 4/1GL OR POUCH PAK, REDUCED SODIUM PREFERRED  91 PREFERRED  Y CS BYRNE BROTHERS FOODS, INC. 1000 16.98 \$16,980.00  PINEAPPLE TIDBITS, 6/#10 CANS, NATURAL JUICE PACK, GRADE A  CS CHURCHFIELD TRADING CO. 2500 25.27 \$63,175.00  GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS  2500 27.43 \$68,575.00			Υ		cs	INCORPORATED DBA THE CD	50	8.15	\$407.50
92 NATURAL JUICE PACK, GRADE A Y CS ROBBINS SALES COMPANY, INC. 2500 23.88 \$59,700.00  CS CHURCHFIELD TRADING CO. 2500 25.27 \$63,175.00  GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS 2500 27.43 \$68,575.00	91	POUCH PAK, REDUCED SODIUM			cs	BYRNE BROTHERS FOODS, INC.	1000	16.98	\$16,980.00
CS CHURCHFIELD TRADING CO. 2500 25.27 \$63,175.00  GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS 2500 27.43 \$68,575.00	92	1	Υ		cs	ROBBINS SALES COMPANY, INC.	2500	23.88	\$59,700.00
CS GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS 2500 27.43 \$68,575.00					cs	CHURCHFIELD TRADING CO.	2500	25.27	
CS BRAUN BEEF CO INC 2500 28.58 \$71,450.00						GOOD SOURCE SOLUTIONS DBA			
					cs	BRAUN BEEF CO INC	2500	28.58	\$71,450.00

		Award						Extended
Line #	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				cs	*HANKS BROKERAGE	2500		
				cs	BYRNE BROTHERS FOODS, INC.	2500	30.98	\$77,450.00
				cs	SYSCO USA I INCORPORATED DBA SYSCO NORTH TEXAS	2500	31.37	\$78,425.00
93	PINTO BEANS, LOW SODIUM, GRADE A, 6/#10 CANS	Y		cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT COMPANY	1000	17.37	\$17,370.00
				cs	BYRNE BROTHERS FOODS, INC.	1000	17.88	\$17,880.00
				cs	ROBBINS SALES COMPANY, INC.	1000	17.88	\$17,880.00
				cs	BRAUN BEEF CO INC	1000	18.746	\$18,746.00
				cs	CHURCHFIELD TRADING CO.	1000	18.79	\$18,790.00
				cs	BUSH BROTHERS & COMPANY	1000	19.42	\$19,420.00
				cs	CHURCHFIELD TRADING CO. *ALT	1000		
				cs	CONAGRA FOODS INCORPORATED	1000	25.42	\$25,420.00
94	POTATOES, INSTANT, 12/26 OZ, PEARLS OR BURSTS W/VIT C	Υ		cs	BASIC AMERICAN INC DBA BASIC AMERICAN FOODS	7000	31.19	\$218,330.00
				cs	BYRNE BROTHERS FOODS, INC.	7000	32.78	\$229,460.00
				cs	ADVANTAGE WAYPOINT LLC	7000	34.58	\$242,060.00
				cs	*ADVANCE SALES & MARKETING INCORPORATED	7000		
					MCLANE EXPRESS INCORPORATED DBA THE CD			
				cs	HARTNETT COMPANY	7000	36.39	\$254,730.00
	POTATOES, SWEET, CUT, MOIST ORANGE VARIETY, 6/#10 CANS,							
95	GRADE A, WATER PACKED	N	8PS	CS	BYRNE BROTHERS FOODS, INC.  MCLANE EXPRESS	200	25.38	\$5,076.00
		Υ		cs	INCORPORATED DBA THE CD HARTNETT COMPANY	200	28.27	\$5,654.00
96	PUDDING CUP, CHOCOLATE, INDIVIDUALLY PKGD	N	4NS	cs	CONAGRA FOODS INCORPORATED	500	12.49	\$6,245.00
		N	8PS	cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT COMPANY	500	13.11	\$6,555.00
		N	4NS	cs	BYRNE BROTHERS FOODS, INC.	500	15.5	\$7,750.00
		Υ		cs	ADVANTAGE WAYPOINT LLC	500	16.81	\$8,405.00
67	PUDDING CUP, VANILLA,		4010					
97	INDIVIDUALLY PACKAGED	N	4NS	CS	MCLANE EXPRESS	500	12.49	\$6,245.00
		N	8PS	cs	INCORPORATED DBA THE CD HARTNETT COMPANY	500	13.11	\$6,555.00
		N	4NS	cs	BYRNE BROTHERS FOODS, INC.	500	15.5	\$7,750.00
		Υ		cs	ADVANTAGE WAYPOINT LLC	500	16.81	\$8,405.00
98	RANCH (BUTTERMILK) DRESSING MIX, 12/1 GAL PER CS, LOW SODIUM PREFERRED	Y		cs	PRECISION FOODS INC (KENT PRECISION FOODS GROUP)	200	17.12	\$3,424.00
				cs	BYRNE BROTHERS FOODS, INC.	200	26.4	\$5,280.00

		Award						Extended
Line #	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
	RANCH DRESSING, LOW FAT,		No		MCLANE EXPRESS INCORPORATED DBA THE CD			
99	P.C. 1.5 OZ.	N	Award	cs	HARTNETT COMPANY	700	9.75	\$6,825.00
		N		cs	KENS FOODS INC	700	11.35	\$7,945.00
					SYSCO USA I INCORPORATED DBA			
		N		CS	SYSCO NORTH TEXAS	700	13.16	\$9,212.00
		N		cs	BYRNE BROTHERS FOODS, INC.	700	15.71	\$10,997.00
		N		cs	ADVANTAGE WAYPOINT LLC	700	25.07	\$17,549.00
	RANCH DRESSING, LOW FAT,		No					
100	P.C. 12 GRAM	N	Award	CS	BYRNE BROTHERS FOODS, INC.	600	7.52	\$4,512.00
101	RANCH DRESSING, P.C. 1.5 OZ	Υ		cs	KENS FOODS INC	100	10.69	\$1,069.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			
				cs	HARTNETT COMPANY	100	14.45	\$1,445.00
				cs	BYRNE BROTHERS FOODS, INC.	100	23	\$2,300.00
102	RANCH DRESSING, P.C. 12 GRAM	N	8PS	cs	BYRNE BROTHERS FOODS, INC.	100	7.79	\$779.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			
		Υ		cs	HARTNETT COMPANY	100	9.25	\$925.00
	RASPBERRY VINAIGRETTE							
103	DRESSING, LOW FAT, PC, 1.5 OZ	Υ		cs	KENS FOODS INC	100	10.38	\$1,038.00
				cs	BYRNE BROTHERS FOODS, INC.	100	19.95	\$1,995.00
	RED PEPPERS, DICED, PEELED,							
104	SWEET, 24/303 RICE CRISPY TREATS, 51%	Υ		CS	BYRNE BROTHERS FOODS, INC.	100	36.95	\$3,695.00
	WHOLE GRAIN, CRISPY							
105	MARSHMALLOW SQUARES, 1.3 OZ	N	1NL	cs	SUPER BAKERY INC	1000	19.63	\$19,630.00
100	02	IN	INL		MCLANE EXPRESS	1000	13.03	ψ13,000.00
		Υ		cs	INCORPORATED DBA THE CD HARTNETT COMPANY	1000	26.45	\$26,450.00
		'			THE MASTERS DISTRIBUTION	1000	20.40	Ψ20,430.00
				CS	SYSTEMS	1000	27.43	\$27,430.00
				cs	BYRNE BROTHERS FOODS, INC.	1000	35.45	\$35,450.00
	RICE WILD, LONG GRAIN, 51%							
	WHOLE GRAIN, PAR BOILED, 25#				GOOD SOURCE SOLUTIONS DBA			
106	BAGS, UNCLE BEN'S OR EQUAL	Υ		CS	TOOLS FOR SCHOOLS	700	13.61	\$9,527.00
				cs	SPECIALTIFOODS INC	700	24.73	\$17,311.00
				cs	BYRNE BROTHERS FOODS, INC.	700	47.85	\$33,495.00
				33	MCLANE EXPRESS	7.50	77.00	ψ55,435.00
				cs	INCORPORATED DBA THE CD HARTNETT COMPANY	700	52.61	\$36,827.00
				- 55	HARTIETT OOMI ANT	100	J2.01	ψ50,021.00
	RICE, BROWN, INFUSED, MEXICAN FLAVOR, 51% WHOLE							
	GRAIN, PRE-SEASONED, QUICK							
107	PREP TIME, LOW SODIUM PREFERRED	Ŋ.	ANC	cs	BYRNE BROTHERS FOODS, INC.	1000	27	\$27,000.00
107	FILLERKED	N	4NS	US	PRECISION FOODS INC (KENT	1000	21	<b>φ∠1,000.00</b>
		Υ		cs	PRECISION FOODS GROUP)	1000	27.28	\$27,280.00

		Award						Extended
Line #	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
	RICE, BROWN, INFUSED, PILAF STYLE, 51% WHOLE GRAIN, PRE- SEASONED ROASTED CHICKEN FLAVOR, QUICK PREP TIME, LOW SODIUM PREFERRED,							
108	UNCLE BEN'S OR EQUAL		WB	CS	BYRNE BROTHERS FOODS, INC.	500	23	\$11,500.00
		Υ		cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT COMPANY	500	32.13	\$16,065.00
109	RICE, BROWN, LONG GRAIN, 51% WHOLE GRAIN, 25# BAG, PAR BOILED, UNCLE BEN'S OR EQUAL	Y		cs	BYRNE BROTHERS FOODS, INC.	700	14.48	\$10,136.00
				cs	INDIAN HARVEST SPECIALTIFOODS INC	700	24	\$16,800.00
110	MAYONNAISE, LIGHT, P.C. 12 GRAM, 75 CS PER ORDER	Υ			MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT COMPANY	500	10.95	\$5,475.00
				cs	BYRNE BROTHERS FOODS, INC.	500	14	\$7,000.00
111	SALAD OIL, STATE PACK	Υ		cs	BYRNE BROTHERS FOODS, INC.	100	48.28	\$4,828.00
112	ES FOODS OR EQUAL	Υ		cs	*ADVANCE SALES & MARKETING INCORPORATED *ADVANCE SALES & MARKETING	300		
113	ES FOODS OR EQUAL	Υ		CS	INCORPORATED	300		
114	ES FOODS OR EQUAL	N	1NL	cs	ES FOODS	300	17.4	\$5,220.00
	SOUP BASE, BEEF, SALT FREE,	Υ		cs	*ADVANCE SALES & MARKETING INCORPORATED  CUSTOM CULINARY	300		
115	NO MSG, NO TRANS FAT, 12/1#	N	4MO	EA	INCORPORATED	1000	4.385	\$4,385.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			
		N	1NL	EA	HARTNETT COMPANY	1000	28.87	\$28,870.00
		Υ		EA	BRAUN BEEF CO INC	1000	55.91	\$55,910.00
				EA	BYRNE BROTHERS FOODS, INC.	1000	56.88	\$56,880.00
116	SOUP BASE, CHICKEN, SALT FREE, NO MSG, NO TRANS FAT, 12/1#	N	4MO	EA	CUSTOM CULINARY INCORPORATED	3000	3.7617	\$11,285.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			
		N	1NL	EA	HARTNETT COMPANY	3000	27.45	\$82,350.00
		Υ		EA	BRAUN BEEF CO INC	3000	42.818	\$128,454.00
				EA	BYRNE BROTHERS FOODS, INC.	3000	43.58	\$130,740.00
117	SOUP BASE, CREAM, DRY MIX, NO TRANS FAT, LOW FAT, 12/24 OZ, TUF #096 OR EQUAL	N	4NS	cs	C H GUENTHER & SON INC DBA PIONEER FLOUR MILLS	1000	24	\$24,000.00
		Υ		cs	PRECISION FOODS INC (KENT PRECISION FOODS GROUP)	1000	26.22	\$26,220.00
				cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT COMPANY	1000		
				cs			26.39	\$26,390.00
					BRAUN BEEF CO INC	1000	35.35	\$35,350.00
	SPAGHETTI, CUT, WHOLE			CS	BYRNE BROTHERS FOODS, INC.	1000	35.78	\$35,780.00
118	WHEAT, 20# BOX, BARILLA OR EQUAL	Υ		cs	ADVANTAGE WAYPOINT LLC	1000	15.5	\$15,500.00

		Award						Extended
Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
				cs	CONAGRA FOODS INCORPORATED	1000	23.4	\$23,400.00
				cs	BYRNE BROTHERS FOODS, INC.	1000	25.5	\$25,500.00
	SPORTS DRINK, LOW CALORIE, G2 GLACIER FREEZE, NO MORE							
119	THAN 10 CAL PER 20oz BTL	N	1NL	cs	ASPIRE BEVERAGE COMPANY LLC	2500	9	\$22,500.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			
		Υ		cs	HARTNETT COMPANY	2500	10.09	\$25,225.00
				cs	TRUE BREW ENTERPRISES LLC	2500	10.32	\$25,800.00
				cs	THE MASTERS DISTRIBUTION SYSTEMS	2500	10.38	\$25,950.00
	SPORTS DRINK, LOW CALORIE,							, -,
	G2 MIXED BERRY CLEAR, NO MORE THAN 10 CAL PER 20oz							
120	BTL	N	1NL	CS	ASPIRE BEVERAGE COMPANY LLC MCLANE EXPRESS	2500	9	\$22,500.00
					INCORPORATED DBA THE CD			
		Υ		CS	HARTNETT COMPANY	2500	10.09	\$25,225.00
				cs	TRUE BREW ENTERPRISES LLC	2500	10.32	\$25,800.00
				cs	THE MASTERS DISTRIBUTION SYSTEMS	2500	10.38	\$25,950.00
	SPORTS DRINK, LOW CALORIE, G2 ORANGE, NO MORE THAN 10							
121	CAL PER 20oz BTL	N	1NL	cs	ASPIRE BEVERAGE COMPANY LLC	2500	9	\$22,500.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			
		Υ		cs	HARTNETT COMPANY	2500	10.09	\$25,225.00
				cs	TRUE BREW ENTERPRISES LLC	2500	10.32	\$25,800.00
				cs	THE MASTERS DISTRIBUTION SYSTEMS	2500	10.38	\$25,950.00
	SPORTS DRINK, LOW CALORIE,							
122	G2 FRUIT PUNCH, NO MORE THAN 10 CAL PER 20oz BTL	N	1NL	cs	ASPIRE BEVERAGE COMPANY LLC	2500	9	\$22,500.00
					MCLANE EXPRESS			<del></del>
		Υ		cs	INCORPORATED DBA THE CD HARTNETT COMPANY	2500	10.09	\$25,225.00
				cs	TRUE BREW ENTERPRISES LLC	2500	10.32	\$25,800.00
					THE MASTERS DISTRIBUTION			
				CS	SYSTEMS	2500	10.38	\$25,950.00
123	SUGAR SUBSTITUTE	Υ		вох	BYRNE BROTHERS FOODS, INC.	20	13.2	\$264.00
124	SUGAR, BROWN 25#	Υ		cs	BYRNE BROTHERS FOODS, INC.	100	12.98	\$1,298.00
125	SUGAR, GRANULATED, PC, 2.8 GR. 2000/CS	Υ		cs	BYRNE BROTHERS FOODS, INC.	100	16	\$1,600.00
	SUCAR ROWNERED ANY MUSTE							
	SUGAR POWDERED, 10X WHITE REFINED SUCROSE OF SUGAR,							
126	NOT LESS THAN 99.5% 25# SUGAR, WHITE, GRANULATED,	Υ		cs	BYRNE BROTHERS FOODS, INC.	100	22.98	\$2,298.00
127	25#	Υ		cs	BYRNE BROTHERS FOODS, INC.	100	16.48	\$1,648.00
128	SYRUP, CARAMEL, SMUCKERS OR EQUAL	Υ		cs	BYRNE BROTHERS FOODS, INC.	50	50.95	\$2,547.50
129	SYRUP, CHOCOLATE, HERSHEYS OR EQUAL	Υ		cs	BYRNE BROTHERS FOODS, INC.	50	24.25	\$1,212.50
129	SYRUP, PANCAKE AND WAFFLE,			GS	BTRNE BROTTLERS FOODS, INC.	- 30	24.20	ψ1,Z1Z.30
130	MAPLE FLAVOR, LIGHT, PC. 1.5 OZ.	Υ		cs	BYRNE BROTHERS FOODS, INC.	2500	6.72	\$16,800.00
			l	CS	CONAGRA FOODS INCORPORATED	2500	22.33	\$55,825.00

		Award						Extended
Line #	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
131	SYRUP, PANCAKE AND WAFFLE, PC, 1.4 OZ, SMUCKERS ONLY	Υ		cs	BRAUN BEEF CO INC	200	12.44	\$2,488.00
				cs	BYRNE BROTHERS FOODS, INC.	200	17.25	\$3,450.00
	TACO BOAT, 51% WHOLE GRAIN, STONE GROUND WHOLE CORN MASA, PACKAGED IN CLEAR WRAPPERS BOXED TO PREVENT BREAKAGE PROVIDE 130		No					
132	CALORIES, NO TRANS FAT	N	Award	CS	CHURCHFIELD TRADING CO.	600	22.97	\$13,782.00
	TACO SEASONING MIX, LOW SODIUM, LB. LAWRY'S OR							
133	EQUAL	N	1NL	EA	BYRNE BROTHERS FOODS, INC.	500	17.2	\$8,600.00
		Y		EA	PRECISION FOODS INC (KENT PRECISION FOODS GROUP) MCLANE EXPRESS	500	17.5	\$8,750.00
				EA	INCORPORATED DBA THE CD HARTNETT COMPANY	500	18.83	\$9,415.00
				EA	BRAUN BEEF CO INC	500	31.93	\$15,965.00
				EA	ADVANTAGE WAYPOINT LLC	500	36.13	\$18,065.00
134	TACO SHELLS, CRISPY, 51% WHOLE GRAIN YELLOW CORN, 5 TO 6" LONG	Υ		CS	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT COMPANY	300	9.69	\$2,907.00
				cs	BYRNE BROTHERS FOODS, INC.	300	13	\$3,900.00
135	TEA BAGS, 48/1 OZ OR 96/1 I OZ	Υ		cs	BYRNE BROTHERS FOODS, INC.	200	12.68	\$2,536.00
136	TEA BOTTLED, 20 OZ OR LESS, LESS THAN 10 CAL PER 20 OZ	Υ		cs	TRUE BREW ENTERPRISES LLC	100	14.88	\$1,488.00
				cs	BYRNE BROTHERS FOODS, INC.	100	19	\$1,900.00
137	TOASTER PASTRIES, 51% WHOLE GRAIN, BROWN SUGAR CINNAMON, 1 PER PKG, NO SPRINKLES	Υ		cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT COMPANY ISYSTOLUSIA HINCORPORATED DBA	3000	30.39	\$91,170.00
				cs	SYSCO NORTH TEXAS	3000	30.86	\$92,580.00
				cs	THE MASTERS DISTRIBUTION SYSTEMS	3000	31.05	\$93,150.00
138	TOASTER PASTRIES, 51% WHOLE GRAIN, STRAWBERRY, 1 PER PKG, SPRINKLES NOT ACCEPTABLE	Y		cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT COMPANY	3000	30.39	\$91,170.00
				cs	SYSCO USA I INCORPORATED DBA SYSCO NORTH TEXAS	3000	30.86	\$92,580.00
				cs	THE MASTERS DISTRIBUTION SYSTEMS	3000	31.05	\$93,150.00
139	TOMATILLOS, CANNED, 6/#10 PER CS, PREFER TOMATOES, DICED, CALIFORNIA	Υ		cs	BYRNE BROTHERS FOODS, INC.	200	24.78	\$4,956.00
140	PACKED FROM FRESH TOMATOES, 6/#10 CANS	N	3TQ	cs	ROBBINS SALES COMPANY, INC.	200	14.24	\$2,848.00
		Y		cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT COMPANY	200	16.77	\$3,354.00
				cs	BYRNE BROTHERS FOODS, INC. SYSCO USA I INCORPORATED DBA SYSCO NORTH TEXAS	200	17.08 17.18	\$3,416.00 \$3,436.00
				cs	CONAGRA FOODS INCORPORATED	200	21.27	\$4,254.00
L	1		1	1	L		1	

		Award						Extended
Line #	Item Description TORTILLA PIECES, 51% WHOLE	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
	GRAIN, 6 LB/CS, LABEL MUST							
141	STATE WHOLE GRAIN	Υ		5000	BYRNE BROTHERS FOODS, INC.	5000	7.29	\$36,450.00
142	VANILLA EXTRACT, QT.	Υ		QT	BYRNE BROTHERS FOODS, INC.	400	2.54	\$1,016.00
				QT	ADVANTAGE WAYPOINT LLC	400	22.58	\$9,032.00
								<b>40,00</b> 2.00
	VEGETABLE JUICE, BOTTLED DRINK, 100% JUICE, RED/ORANGE VEGETABLES, 1/2							
143	CUP EQUIVALENT, TRUE BREW ROCKIN' REDS OR EQUAL	Υ		cs	TRUE BREW ENTERPRISES LLC	500	23.04	\$11,520.00
	VINEGAR WHITE, 5% ACIDITY, 4/1				MCLANE EXPRESS INCORPORATED DBA THE CD			. //
144	GAL.	Υ		CS	HARTNETT COMPANY	1000	8.95	\$8,950.00
				cs	BYRNE BROTHERS FOODS, INC.	1000	9.48	\$9,480.00
				cs	BRAUN BEEF CO INC	1000	9.896	\$9,896.00
145	WATER, BOTTLED 24/16.9oz, 19.8- 20 GRAM BTLS CS	N	4NS	cs	NESTLE WATERS NORTH AMERICA	18000	2.9	\$52,200.00
140			CNIE	55			2.3	<b>\$02,200.00</b>
		Υ		CS	APANI SOUTHWEST INC	18000	4.74	\$85,320.00
	WATER, FLAVORED, NONCARBONATED, NO MORE THAN 5 CAL/8 OZ, PROPEL							
146	BRAND OR SIMILIAR	N	3TQ	cs	SUNNY DELIGHT BEVERAGES CO	1000	8.95	\$8,950.00
		Υ		cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT COMPANY	1000	13.25	\$13,250.00
	WORCHESTERSHIRE SAUCE 12							
147	OZ BOTTLE	Y		cs	BYRNE BROTHERS FOODS, INC.	5	16.45	\$82.25
148	WATER, BOTTLED, 24/16.9oz, FILTERED UNFLAVORED IN PLASTIC SCREW TOP BOTTLES, NESTLE PURE LIFE, OZARKA, OR OTHER NATIONAL BRAND PREFERRED	Y		CS	NESTLE WATERS NORTH AMERICA	10000	2.9	\$29,000.00
				cs	APANI SOUTHWEST INC	10000	2.97	\$29,700.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			. ,
				CS	HARTNETT COMPANY	10000	4.19	\$41,900.00
149	BREAKFAST BREAKS, TRIX, REDUCED SUGAR, 51% WHOLE GRAIN, ES FOODS OR EQUAL	N	1NL	cs	*ADVANCE SALES & MARKETING INCORPORATED	1000		
		Υ		cs	ES FOODS	1000	51.84	\$51,840.00
150	CORN CHIPS, FRITOS, BULK PACK, 51% WHOLE GRAIN CORN, 8/16oz BAGS, REDUCED FAT AND SODIUM PREFERRED	Y		cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT COMPANY	1500	14.89	\$22,335.00
151	EDIBLE SALAD BOWL, WHOLE GRAIN, NO TRANS FAT, 4.5 INCH	Y		EA	SUPER BAKERY INC	500	23.62	\$11,810.00
	,			EA	BRAUN BEEF CO INC	500	23.69	\$11,845.00
								-
	MEAL BREAKS, BAR-B-Q CHICKEN, PRE-PACKAGED			EA	BYRNE BROTHERS FOODS, INC.	500	68	\$34,000.00
152	MEAL, SHELF STABLE, ES FOODS OR EQUAL	Υ		cs	ES FOODS	500	59.7	\$29,850.00

		Award						Extended
Line #	Item Description MEAL BREAKS, CHEESE	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
	SPREAD, PRE-PACKAGED MEAL,							
153	SHELF STABLE, ES FOODS OR EQUAL	N	1NL	cs	CHURCHFIELD TRADING CO.	500	51.67	\$25,835.00
133	LQUAL	IN	TINL	03	*ADVANCE SALES & MARKETING	300	31.07	\$23,833.00
		N	4NS	CS	INCORPORATED	500		
		Υ		cs	ES FOODS	500	59.7	\$29,850.00
	MEAL BREAKS, CHEESE STICKS, PRE-PACKAGED MEAL, SHELF							
154	STABLE, ES FOODS OR EQUAL	N	1NL	cs	CHURCHFIELD TRADING CO.	500	51.67	\$25,835.00
		N	4NS	cs	*ADVANCE SALES & MARKETING INCORPORATED	500		
			-1113					
		Υ		CS	ES FOODS	500	63	\$31,500.00
	MEAL BREAKS, CHEESE STICKS,							
155	PRE-PACKAGED MEAL, SHELF STABLE, ES FOODS OR EQUAL	N	1NL	cs	CHURCHFIELD TRADING CO.	500	51.67	\$25,835.00
100	OTTESE, EOT GODG GREGORE	14	TIVE	- 55	*ADVANCE SALES & MARKETING		01.07	<b>\$20,000.00</b>
		N	4NS	CS	INCORPORATED	500		
		Υ		cs	ES FOODS	500	59.7	\$29,850.00
	MEAL BREAKS, ITALIAN COMBO WRAP, PRE-PACKAGED MEAL,							
	SHELF STABLE, ES FOODS OR							
156	EQUAL MILK, SHELF STABLE,	Υ		CS	ES FOODS	500	60	\$30,000.00
	CHOCOLATE, 8 OZ, UHT, NON-							
157	FAT	Υ		cs	ES FOODS	500	14.85	\$7,425.00
158	MILK, SHELF STABLE, WHITE, 8 OZ, UHT, 1% LOW FAT	Υ		cs	ES FOODS	500	14.04	\$7,020.00
	MIX, TURKEY GRAVY, ADD WATER ONLY, MINIMUM 25 CAL,							
	MAXIMUM 1 FAT GRAM PER 2				C H GUENTHER & SON INC DBA			
159	FLUID OZ SERVING	Υ		CS	PIONEER FLOUR MILLS	1000	18.8	\$18,800.00
				cs	BYRNE BROTHERS FOODS, INC.	1000	20.98	\$20,980.00
				cs	PRECISION FOODS INC (KENT PRECISION FOODS GROUP)	1000	23.64	\$23,640.00
				- 00	CUSTOM CULINARY	1000	23.04	Ψ23,040.00
	OATMEAL BARS, APPLE, SOFT,			CS	INCORPORATED	1000	30.91	\$30,910.00
	51% WHOLE GRAIN,							
	INDIVIDUALLY PACKAGED, DARLINGTON APPLEWAYS OR				GOOD SOURCE SOLUTIONS DBA			
160	EQUAL	N	1NL	cs	TOOLS FOR SCHOOLS	1000	21.61	\$21,610.00
		Υ		cs	THE MASTERS DISTRIBUTION SYSTEMS	1000	42.12	\$42,120.00
				03	OTOTEMO	1000	-/411/4	ψ <del>τ</del> /2, 1/20.00
161	RAISINS, INDIVIDUAL PACKAGED, 1.33oz BOX, 144/CS	Υ		cs	CHURCHFIELD TRADING CO.	500	26.32	\$13,160.00
101	1 ACRACED, 1.0302 BOX, 144/03			00	OHOROHITEED HADING CO.	300	20.02	ψ13,100.00
				cs	NATIONAL FOOD GROUP INC	500	26.75	\$13,375.00
				cs	BYRNE BROTHERS FOODS, INC.	500	27.88	\$13,940.00
				cs	GLOBAL FOODS INCORPORATED	500	30.5	\$15,250.00
	SAUCE, THAI CHILI, 4/5lb			- 55	SESSAL I SODO MODIFICIATED	300	30.3	ψ10,£30.00
162	PLASTIC BOTTLES OR SMALLER PACK	NI NI	8PS	cs	BYRNE BROTHERS FOODS, INC.	50	37	\$1,850.00
102	I AVI	N	013		MCLANE EXPRESS	30	31	ψ1,030.00
		Υ		cs	INCORPORATED DBA THE CD HARTNETT COMPANY	50	39.25	\$1,962.50
		1		30	THE THE SOUTH AND			
				CS	CHEFS CORNER FOODS	50	46.73	\$2,336.50

		Award						Extended
Line #	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				cs	ASIAN FOOD SOLUTIONS	50	50.4	\$2,520.00
	SAUCE, SRIRACHA HOT CHILI, 6/5lb PLASTIC BOTTLES OR							
163	SIMILAR	N	8PS	cs	BYRNE BROTHERS FOODS, INC.	75	33	\$2,475.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			
		Υ		CS	HARTNETT COMPANY	75	41.81	\$3,135.75
	SAUCE, CHERRY BLOSSOM ASIAN SAUCE, 500mg OR LESS				MCLANE EXPRESS			
164	PER SERVING, SHELF STAPLE, 1/2 gal CONTAINERS, 6/CS	N	3TQ	cs	INCORPORATED DBA THE CD HARTNETT COMPANY	300	27.73	\$8,319.00
104	1/2 gai contraintent, 0/00		31Q					
		Υ		CS	CHEFS CORNER FOODS	300	46.67	\$14,001.00
	CALICE CENERAL TOO ACIAN			cs	ASIAN FOOD SOLUTIONS	300	50.4	\$15,120.00
	SAUCE, GENERAL TSO ASIAN SAUCE, 500mg OR LESS PER							
165	SERVING, SHELF STAPLE, 1/2 gal CONTAINERS, 6/CS	N	3TQ	cs	ASIAN FOOD SOLUTIONS	300	45.5	\$13,650.00
100	OONTAINEINO, 0/00		310					
		Υ		CS	CHEFS CORNER FOODS	300	48.95	\$14,685.00
				cs	BYRNE BROTHERS FOODS, INC.	300	50.45	\$15,135.00
	SAUCE, ORANGE OR TANGERINE							
	ASIAN SAUCE, 500mg OR LESS PER SERVING, SHELF STAPLE,							
166	1/2 gal CONTAINERS, 6/CS	N	8PS	cs	BYRNE BROTHERS FOODS, INC.	650	40.35	\$26,227.50
		Υ		cs	CHEFS CORNER FOODS	650	41.2	\$26,780.00
				cs	ASIAN FOOD SOLUTIONS	CEO	45.4	£20 540 00
	SKINNY CAPPUCCINO, FRENCH			CS	ASIAN FOOD SOLUTIONS	650	45.4	\$29,510.00
	VANILLA, BLENDED COFFEE MIX W/MILK, 1/2 gal CONTAINERS,							
167	6/CS	N	8PS	cs	BYRNE BROTHERS FOODS, INC.	100	20.99	\$2,099.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			
		Υ		CS	HARTNETT COMPANY	100	58.15	\$5,815.00
				cs	BRAUN BEEF CO INC	100	61.56	\$6,156.00
	SKINNY CAPPUCCINO, MOCHA, BLENDED COFFEE MIX W/MILK,							
168	1/2 gal CONTAINERS, 6/CS	N	8PS	cs	BYRNE BROTHERS FOODS, INC.	100	52	\$5,200.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			
		Υ		cs	HARTNETT COMPANY	100	58.15	\$5,815.00
				cs	BRAUN BEEF CO INC	100	61.56	\$6,156.00
	SLUSH DRINKS, BLUE							
	RASPBERRY, INDIVIDUALLY							
	PACKAGED, 100% JUICE, SHELF STABLE, COOL TROPICS RIPS				*ADVANCE SALES & MARKETING			
169	SLUSH OR EQUAL	N	3TQ	cs	INCORPORATED	1000		
					MCLANE EXPRESS INCORPORATED DBA THE CD			
		Υ		CS	HARTNETT COMPANY	1000	17.59	\$17,590.00
				cs	BRAUN BEEF CO INC	1000	17.6	\$17,600.00
				cs	THE MASTERS DISTRIBUTION SYSTEMS	1000	17.95	\$17,950.00
					SYSCO USA I INCORPORATED DBA			
				cs	SYSCO NORTH TEXAS	1000	18.05	\$18,050.00

		Award						Extended
Line #	Item Description	(Y/N)	Reason	иом	Supplier	Qty	Price	Price
170	SLUSH DRINKS, CHERRY LIMEADE, INDIVIDUALLY PACKAGED, 100% JUICE, SHELF STABLE, COOL TROPICS RIPS SLUSH OR EQUAL	N	зто	cs	*ADVANCE SALES & MARKETING INCORPORATED	1000		
		Υ		cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT COMPANY	1000	17.59	\$17,590.00
				cs	BRAUN BEEF CO INC	1000	17.6	\$17,600.00
				cs	THE MASTERS DISTRIBUTION SYSTEMS	1000	17.95	\$17,950.00
				cs	SYSCO USA I INCORPORATED DBA SYSCO NORTH TEXAS	1000	18.05	\$18,050.00
171	SLUSH DRINKS, KIWI STRAWBERRY, INDIVIDUALLY PACKAGED, 100% JUICE, SHELF STABLE, COOL TROPICS RIPS SLUSH OR EQUAL	N	зто	cs	*ADVANCE SALES & MARKETING INCORPORATED IMCLANE EXPRESS	1000		
		Υ		cs	INCORPORATED DBA THE CD HARTNETT COMPANY	1000	17.59	\$17,590.00
				cs	BRAUN BEEF CO INC	1000	17.6	\$17,600.00
				cs	THE MASTERS DISTRIBUTION SYSTEMS	1000	17.95	\$17,950.00
				cs	SYSCO USA I INCORPORATED DBA SYSCO NORTH TEXAS	1000	18.05	\$18,050.00
172	SLUSH DRINKS, SOUR APPLE, INDIVIDUALLY PACKAGED, 100% JUICE, SHELF STABLE, COOL TROPICS RIPS SLUSH OR EQUAL	N	зто	cs	*ADVANCE SALES & MARKETING INCORPORATED IMCLANE EXPRESS	1000		
		Υ		cs	INCORPORATED DBA THE CD HARTNETT COMPANY	1000	17.59	\$17,590.00
				cs	BRAUN BEEF CO INC	1000	17.6	\$17,600.00
				cs	THE MASTERS DISTRIBUTION SYSTEMS	1000	17.95	\$17,950.00
				cs	SYSCO USA I INCORPORATED DBA SYSCO NORTH TEXAS	1000	18.05	\$18,050.00
173	SEASONING, ASIAN GINGER AND GARLIC 6/16 OZ OR SIMILAR	Υ		cs	BYRNE BROTHERS FOODS, INC.	50	78	\$3,900.00
	SEASONING, LEMON AND CRACKED PEPPER, NO SALT, NO SUGAR, 6/16oz OR SIMILAR, CHEF PAUL MAGIC SEASONING					400		
174	BLEND OR EQUAL	N	8PS	CS	BYRNE BROTHERS FOODS, INC.	100	45.5	\$4,550.00
		Υ		cs	MAGIC SEASONING BLENDS LLC	100	55.1	\$5,510.00
175	SEASONING, TOASTED ONION AND GARLIC, NO SALT, NO SUGAR, 6/16oz OR SIMILAR, CHEF PAUL MAGIC SEASONING BLEND OR EQUAL	Υ		CS CS	ADVANTAGE WAYPOINT LLC  MAGIC SEASONING BLENDS LLC	100 50	68.26 32.51	\$6,826.00 \$1,625.50
				cs	BYRNE BROTHERS FOODS, INC.	50	68.2	\$3,410.00
				cs	ADVANTAGE WAYPOINT LLC	50	78.3	\$3,915.00

Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
Lille #	SEASONING, LITTLE ITALY, NO SALT, NO SUGAR, 6/16oz OR	(1714)	Reason	OOM	бирриег	uty	Title	Title
176	SIMILAR, CHEF PAUL MAGIC SEASONING BLEND OR EQUAL	Υ		cs	MAGIC SEASONING BLENDS LLC	50	31.58	\$1,579.00
				cs	BYRNE BROTHERS FOODS, INC.	50	34.85	\$1,742.50
				cs	ADVANTAGE WAYPOINT LLC	50	47.63	\$2,381.50
177	SEASONING, CHIPOTLE CHILE, NO SALT, NO SUGAR, 6/16oz OR SIMILAR, CHEF PAUL MAGIC SEASONING BLEND OR EQUAL	Y		cs	MAGIC SEASONING BLENDS LLC	50	49.56	\$2,478.00
				cs	BYRNE BROTHERS FOODS, INC.	50	52.41	\$2,620.50
				cs	ADVANTAGE WAYPOINT LLC	50	66.59	\$3,329.50
178	SEASONING, LEMON AND CRACKED PEPPER, INDIVIDUAL PACK, NO SALT, NO SUGAR, 500/CS, CHEF PAUL MAGIC SEASONING BLEND OR EQUAL	Y		cs	MAGIC SEASONING BLENDS LLC	75	25.51	\$1,913.25
				cs	BYRNE BROTHERS FOODS, INC.	75	29	\$2,175.00
179	SEASONING, TOASTED ONION AND GARLIC, INDIVIDUAL PACK, NO SALT, NO SUGAR, 500/CS, CHEF PAUL MAGIC SEASONING BLEND OR EQUAL	Y		cs	MAGIC SEASONING BLENDS LLC	75	25.51	\$1,913.25
				cs	BYRNE BROTHERS FOODS, INC.	75	29	\$2,175.00
180	SEASONING, SWEET AND SPICY, INDIVIDUAL PACK, NO SALT, NO SUGAR, 500/CS, CHEF PAUL MAGIC SEASONING BLEND OR EQUAL	Y		CS	MAGIC SEASONING BLENDS LLC	75	25.51	\$1,913.25
				cs	BYRNE BROTHERS FOODS, INC.	75	28.9	\$2,167.50
181	SEASONING, CHILI LIME		No Award	cs	NB			
182	SEASONING, GARLIC PARMESAN FLAVOR, INDIVIDUAL PACK, LOW OR NO SODIUM, 500/CS, CHEFS FUN FOODS OR EQUAL	Υ		cs	BRAUN BEEF CO INC	75	38.25	\$2,868.75
183	SEASONING, BUFFALO FLAVOR, INDIVIDUAL PACK, LOW OR NO SODIUM, 500/CS, CHEFS FUN FOODS OR EQUAL	N	8PS	cs	BYRNE BROTHERS FOODS, INC.	75	19.5	\$1,462.50
		Υ		cs	BRAUN BEEF CO INC	75	38.25	\$2,868.75
184	SEASONING, BBQ FLAVOR, INDIVIDUAL PACK, LOW OR NO SODIUM, 500/CS, CHEFS FUN FOODS OR EQUAL SOY MILK, VANILLA, 24/8 OZ	Υ		cs	BRAUN BEEF CO INC	75	38.25	\$2,868.75
185	CONTAINERS OR SIMILAR, PACIFIC NATURAL FOOD OR SUNRICH BRAND ONLY	Υ		cs	BYRNE BROTHERS FOODS, INC.	100	16	\$1,600.00
186	SOY MILK, PLAIN, BULK CONTAINERS, 12/32 OZ OR SIMILAR	Υ		cs	BYRNE BROTHERS FOODS, INC.	25	22	\$550.00

Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
187	SPICE, PEPPER BLACK, REGULAR GROUND 51b	Υ		CN	ADVANTAGE WAYPOINT LLC	200	37.51	\$7,502.00
				CN	BYRNE BROTHERS FOODS, INC.	200	38.48	\$7,696.00
188	SPICE, CHILI POWDER, GROUND, MILD ROBUST FLAVOR, 51b OR LESS CONTAINER	Υ		CN	BYRNE BROTHERS FOODS, INC.	200	11.98	\$2,396.00
				CN	INCORPORATED DBA THE CD HARTNETT COMPANY	200	19.77	\$3,954.00
				CN	ADVANTAGE WAYPOINT LLC	200	29.61	\$5,922.00
189	SPICE, CUMIN, GROUND, MILD ROBUST FLAVOR, 11b OR LESS CONTAINER	Υ		EA	BYRNE BROTHERS FOODS, INC.	200	16.8	\$3,360.00
				EA	ADVANTAGE WAYPOINT LLC	200	50.65	\$10,130.0
190	SPICE, FAJITA, LOW SODIUM, NO MSG, 1lb PACKAGES	N	3TQ	PK	PRECISION FOODS INC (KENT PRECISION FOODS GROUP) IMCLANE EXPRESS	500	11.49	\$5,745.00
		Υ		PK	INCORPORATED DBA THE CD HARTNETT COMPANY	500	23.41	\$11,705.0
191	SPICE, GRANULATED GARLIC, 5lb	N	1NL	CN	ADVANTAGE WAYPOINT LLC	500	27.9	\$13,950.0
		Υ		CN	BYRNE BROTHERS FOODS, INC.	500	74.68	\$37,340.0
192	SPICE, GRANULATED ONION, 51b	N	1NL	CN	ADVANTAGE WAYPOINT LLC	500	41.1	\$20,550.0
		Υ		CN	BYRNE BROTHERS FOODS, INC.	500	99.98	\$49,990.0
193	SPICE, ITALIAN SEASONING, NO ADDED SALT, 4/5 LB PER CASE	Υ		cs	BYRNE BROTHERS FOODS, INC.	50	78.88	\$3,944.00
194	SPICE, LEMON PEPPER, GROUND, NO ADDED SALT, 1 Ib OR LESS CONTAINER	Υ		EA	BYRNE BROTHERS FOODS, INC.	75	46.68	\$3,501.00
				EA	ADVANTAGE WAYPOINT LLC	75	68.26	\$5,119.50
195	PAPRIKA LIGHT, 1 LB.	Υ		CN	BYRNE BROTHERS FOODS, INC.	75	17.28	\$1,296.0
				CN	ADVANTAGE WAYPOINT LLC	75	36.18	\$2,713.5
196	SPICE, PARSLEY, DRIED, 1 Ib OR LESS CONTAINERS	Υ		EA	BYRNE BROTHERS FOODS, INC. MCLANE EXPRESS INCORPORATED DBA THE CD	600	6.98	\$4,188.0
				EA	HARTNETT COMPANY	600	7.95	\$4,770.0
407	SPICE, PEPPER INDIVIDUAL			EA	ADVANTAGE WAYPOINT LLC	600	10.58	\$6,348.0
197	18GR, 3/1000 PACK SPICE, PEPPER, RED CRUSHED,	Y		CS	BYRNE BROTHERS FOODS, INC.	300	16.3	\$4,890.0
198	BULK	Υ		CS	BYRNE BROTHERS FOODS, INC.	50	17.8	\$890.00
199	SPICE, PEPPER, RED CRUSHED, P.C.	Υ		CS CS	ADVANTAGE WAYPOINT LLC BYRNE BROTHERS FOODS, INC.	50 20	36.32	\$1,816.0 \$480.00
200	SPICE, PEPPER, WHITE, 1 lb	Y N	1NL	CN	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT COMPANY	150	10.25	\$480.00 \$1,537.5
200	OLIOL, FLEPER, WHILE, I ID		TINE					
		Υ		CN	BYRNE BROTHERS FOODS, INC.  ADVANTAGE WAYPOINT LLC	150 150	72.32 105.95	\$10,848.0 \$15,892.5
	î l		ĺ	J. 3.4				ψ.0,032.0

Line #	Item Description	Award (Y / N)	Reason	иом	Supplier	Qty	Price	Extended Price
202	SPICE, PAPRIKA, LIGHT, 1 lb	Υ		CN	BYRNE BROTHERS FOODS, INC.	75	17.28	\$1,296.00
				CN	ADVANTAGE WAYPOINT LLC	75	36.18	\$2.713.50
203	SPICE, PARSLEY, DRIED, 11b OR LESS CONTAINERS	Υ		EA	BYRNE BROTHERS FOODS, INC.	600	6.98	\$4,188.00
				EA	ADVANTAGE WAYPOINT LLC	600	10.58	\$6,348.00
204	SPICE, PEPPER INDIVIDUAL 18GR, 3/1000 PACK	Υ		cs	BYRNE BROTHERS FOODS, INC.	300	16.3	\$4,890.00
205	SPICE, PEPPER RED CRUSH BULK	Υ		cs	BYRNE BROTHERS FOODS, INC.	50	17.8	\$890.00
206	SPICE, PEPPER, RED CRUSH, PC	Υ		cs	BYRNE BROTHERS FOODS, INC.	20	24	\$480.00
207	SPICE, PEPPER, WHITE, 1lb	Υ		CN	BYRNE BROTHERS FOODS, INC.	150	72.32	\$10,848.00
				CN	ADVANTAGE WAYPOINT LLC	150	105.95	\$15,892.50
208	SPICE, SALT, INDIVIDUAL, 75GR, 3000/CS	Υ		вх	BYRNE BROTHERS FOODS, INC.	300	7.08	\$2,124.00
209	SPICE, SALT, IODIZED, TABLE 24/26 OZ	Υ		cs	BYRNE BROTHERS FOODS, INC.	200	13.88	\$2,776.00
210	SPICE, STEAK SEASONING, MCCORMICK, OR EQUAL	Υ		EA	BYRNE BROTHERS FOODS, INC.	5	58.25	\$291.25
	SPORT DRINK, LOW CALORIE,							
211	G2 LEMON LIME, NO MORE THAN 10 CAL PER 2002 BOTTLE	N	1NL	cs	ASPIRE BEVERAGE COMPANY LLC	2500	9	\$22,500.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			
		Υ		CS	HARTNETT COMPANY THE MASTERS DISTRIBUTION	2500	10.09	\$25,225.00
	TORTILLAS, CORN, 51% WHOLE			cs	SYSTEMS MCLANE EXPRESS	2500	10.38	\$25,950.00
212	GRAIN CORN, 4.5", 6/50ct CS OR SIMILIAR	Υ		cs	INCORPORATED DBA THE CD HARTNETT COMPANY	2000	10.69	\$21,380.00
212	JIMILIAN	ı		cs	BYRNE BROTHERS FOODS, INC.	2000	13.75	\$27,500.00
	TARTAR SAUCE, PC, 12GR			CS	BTRNE BROTHERS FOODS, INC.	2000	13.75	\$27,500.00
213	PACKS, 200/CS OR SIMILAR, SHELF STABLE	Υ		cs	BYRNE BROTHERS FOODS, INC.	75	10.13	\$759.75
	TORTILLA CHIPS, OVEN BAKED, 51% WHOLE GRAIN CORN,				THE MASTERS DISTRIBUTION			
214	INDIVIDUALLY BAGGED	Υ		CS	SYSTEMS	500	19.53	\$9,765.00
215	VANILLA EXTRACT, QT.	Υ		QT	BYRNE BROTHERS FOODS, INC.	400	2.54	\$1,016.00
				QT	ADVANTAGE WAYPOINT LLC	400	22.58	\$9,032.00
	VEGETABLE JUICE, BOTTLED DRINK, 100% JUICE, MADE FROM							
	RED/ORANGE VEGETABLES, TRUE BREW ROCKIN' REDS OR				CAL-TEX CITRUS JUICE LLP DBA			
216	EQUAL	Υ		cs	COUNTRY PURE FOODS  MCLANE EXPRESS	500	12.26	\$6,130.00
				cs	INCORPORATED DBA THE CD HARTNETT COMPANY	500	17.39	\$8,695.00
217	VINEGAR, RED WINE, GOOD QUALITY, 4/1 GAL	Υ		cs	BYRNE BROTHERS FOODS, INC.	100	28.68	\$2,868.00
218	VINEGAR, RICE WINE, 4/1 GAL OR SMALLER	Y		cs	BYRNE BROTHERS FOODS, INC.	25	21.6	\$540.00
	PONZU, CITRUS SEASONED, 6/1.89 LITER KIKKOMAN OR							
219	SMALLER OR SIMILAR	Υ		cs	BYRNE BROTHERS FOODS, INC.	25	35.62	\$890.50